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CRITICAL THINKING IS THE KEY TO SOLVE REAL WORLD PROBLEMS.
CHILDREN MUST BE TAUGHT HOW TO THINK, NOT WHAT TO THINK.

A GREAT TEACHER WILL BE CREATING STUDENTS TO DO NEW THINGS

THROUGH CRITICAL THINKING, NOT SIMPLY REPEATING WHAT OTHER

GENERATIONS HAVE DONE BEFORE. WE DO NOT NEED ANOTHER
ALBERT EINSTEIN OR ISAAC NEWTON.... WE NEED A PERSON BETTER
THAN THEM.
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Answer:
Method 1
cos(70° + x)

= cos(30° + (40° + x))

= c0s 30 ° cos(40° + x) — sin 30 °sin(40° + x)
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Note: sin®(40 + x)° + cos?(40 + x)° =1

but given that, sin(40° + x) = b,
b? + cos?(40 + x)° =

cos(40° + x) = V1 — b?




Answer:

Method 2

Given that, sin(40°+x)=b = (40°+ x) =sin"1(b)
cos(70° + x) = cos(30° + sin~1(b))

= cos 30 ° cos(sin~1(b)) — sin 30 ° sin(sin~1 (b))

;L§V1=b2=%b Let sin"}(b) =a = sina=0b

sina + cos?a = 1
3 J3(1=b2) = b b? + cos?a=1 = cosa = V1 — b2 = cos(sin~1(b)) = V1 — b2
. 2



(Golden DRules

sin(A+ B) =sinAcosB + cosAsinB =sin(A+ A) =sinAcosA +cosAsinA = sin(24) = 2sinAcos A

sin(A — B) =sinAcosB — cosAsinB

cos(A + B) = cosAcosB —sinAsinB = cos(A+ A) = cosAcosA—sinAsinA = cos2A = cos? A —sin? A

cos 24 = 2cos? A —1
cos(A — B) = cosAcosB + sinAsinB

cos2A =1 —2sin’ A

tan A+tan B tan A+tan A 2tan A
tan(A t B) 1-tan A tan B tan(A + A) 1-tan A tan 4 tan(ZA) 1-tan? A

tan A—tan B
1+tan A tan B

tan(4A — B) =
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